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QUADRILATERAL : CONSTRUCTION AND
TYPES

Question Bank

1. Construct [ PQRS such that | (PQ) = 5.5 cm, | (QR) =

5cm,I(PS)=4.2cm,| (QS)=61cm and | (RS) =7 cm.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lQ4qtzcOR4CQ

2. Construct [0 WXYZ such that | (YZ) =39 cm, | (ZX) =

6cm,| (WX)=4.5cm, | (zw) =5cm and | (YW) =6.4 cm.

° Watch Video Solution

3. Construct [J ABCD such that | (AB) =4.4 cm, | (BC) =

55cm,m/A = 65°, m/ZB = 100° and mZC = 100

° Watch Video Solution

4. Construct [J PQRS such that | (QR) =4.9 cm, | (RS) =

6.2cm,l(SP)=39cm,mZR = 60° and mZS = 75°.

° Watch Video Solution



https://dl.doubtnut.com/l/_Uyw5dqydGPnU
https://dl.doubtnut.com/l/_LA9yEB1t5WJj
https://dl.doubtnut.com/l/_oNqHod1yp8UH

5. In [ MORE, | (MO) = 58 cm, | (OR) = 44 cm,

msM = 58°, mZO = 150°, mZR = 90°.

° Watch Video Solution

6. Construct ] DEFG such that | (DE) =4.5 cm, | (EF) =

6.5cm, | (DG) =5.5 cm, | (DF) =7.2 cm, | (EG) = 7.8 cm.

° Watch Video Solution

7. In O ABCD | (AB) = 64cm, | (BC) = 4.8 cm,

m/A =T70°, mLB°, m/ZC = 140°.



https://dl.doubtnut.com/l/_oNqHod1yp8UH
https://dl.doubtnut.com/l/_MgTOhRcOa3OC
https://dl.doubtnut.com/l/_5g8Ko7r7kZHd
https://dl.doubtnut.com/l/_WzJ3KGGc7cjD

o Watch Video Solution J

8. Construct [ LMNO, such that | (LM) =1 (LO) =6 cm, |

(ON) =1 (NM)=4.5cm, | (OM) = 7.5 cm,

o Watch Video Solution

9. Draw a tringle ABCD such that | (AB) =6 cm and | (BC)

=45 cm.

o Watch Video Solution

10. Draw a square WXYZ with side 5.2 cm.



https://dl.doubtnut.com/l/_WzJ3KGGc7cjD
https://dl.doubtnut.com/l/_jw1sH3t4TqQR
https://dl.doubtnut.com/l/_L5o0YtfRg0hG
https://dl.doubtnut.com/l/_34PfC4SyTCvD

I o Watch Video Solution

11. Draw a rhombus KLMN such that its side is 4 cm

and m/K = T75°.

o Watch Video Solution

12. If diagonal of a rectangle is 26 cm and one side is 24

cm, find the other side.

o Watch Video Solution



https://dl.doubtnut.com/l/_34PfC4SyTCvD
https://dl.doubtnut.com/l/_QbXzgamfRHS5
https://dl.doubtnut.com/l/_G3dKOhUVaQj4

13. Lengths of diagonals of a rhombus ABCD are 16 cm
and 12 cm. Find the side and perimeter of the

rhombus.

° Watch Video Solution

14. Find diagonal of square with side 8 cm.

° Watch Video Solution

15. Measure of one angle of a rhombus is 50° find the

measures of remaining three angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_hHLSjB3Q6XDp
https://dl.doubtnut.com/l/_zB027X16pvii
https://dl.doubtnut.com/l/_4PBcQAUCBMTo

16. Measures of opposite angles of a parallelogram are
(3z —2)° and (50 — z)°. Find the measure of its

each angle.

° Watch Video Solution

17. Referring to the given figure of a parallelogram ,

write the answers of question given below:


https://dl.doubtnut.com/l/_4PBcQAUCBMTo
https://dl.doubtnut.com/l/_BAhLAcuErKm5
https://dl.doubtnut.com/l/_P2oiUSaO78cw

If 1 (YZ) =8.2 cm then | (XW) =?

° Watch Video Solution

18. Referring to the given figure of a parallelogram ,

write the answers of question given below:


https://dl.doubtnut.com/l/_P2oiUSaO78cw
https://dl.doubtnut.com/l/_G5Dq8k0CLjbw

If | (OX) =2.5 cm then | (0Z) =7

o Watch Video Solution

19. Referring to the given figure of a parallelogram ,

write the answers of question given below:


https://dl.doubtnut.com/l/_G5Dq8k0CLjbw
https://dl.doubtnut.com/l/_jor8aRuMJ0aQ

If (WO) =3.3 cm then | (WY) =?

o Watch Video Solution

20. Referring to the given figure of a parallelogram ,

write the answers of question given below : If

m/WZY = 120° then m/WXY =7  And


https://dl.doubtnut.com/l/_jor8aRuMJ0aQ
https://dl.doubtnut.com/l/_eGlv1UBXZ5HW

mLXWZ =7
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o Watch Video Solution

21. Construct a parallelogram ABCD such that

I(BC) = Tem,m/ABC = 40°,1(AB) = 3cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_eGlv1UBXZ5HW
https://dl.doubtnut.com/l/_mxJvyUvm3tpk

22. Ratio of consecutive angles of quadrilateral is 1: 2:

3: 4. Find the measures of its each angle.

° Watch Video Solution

23. Construct [ BARC such that | (BA) =1 (BC) =4.2 cm,

| (AC) =6 cm, | (AR) =1 (CR) = 5.6 cm.

° Watch Video Solution

24, Construct [] PORS
suchtl (PQ) = 3.5cm, l(QR) = 5.6cm, [(RS) = 3.5cm,

m angleQ=110"@,m angleR=70"@1 fitisgivent " square’


https://dl.doubtnut.com/l/_F5rtRLHixuha
https://dl.doubtnut.com/l/_JN8xj7ZJNzRA
https://dl.doubtnut.com/l/_ruHLRFw4ojhW

PQRS is a parallelogeam, which of the given

information is unneccessary?

o Watch Video Solution

25. answer the following question:

B ; T -
In the figure, (] ABCD is a rhombus.
If [(BM)=3 and /(MC)=4, then

perimater of [J ABCD is


https://dl.doubtnut.com/l/_ruHLRFw4ojhW
https://dl.doubtnut.com/l/_rIDPQwniemvc

A.16

B.12

C.20

D. 48

Answer: C

° Watch Video Solution

26. Which of the following properties is incorrect?
Diagonals of a parallelogram bisect each other.
Diagonals of a rectangle are congruent

Diagonals of a rhombus are perpendicular to each

other.


https://dl.doubtnut.com/l/_rIDPQwniemvc
https://dl.doubtnut.com/l/_TkRhC5LFSdBU

Diagonls of a kite are perpendicular bisectors to each

other.

A3

B.2

C.1

D.4

Answer: D

o Watch Video Solution

27. If the adjacent sides of a parallelogram are 4 cm

and 6 cm. then its perimeter is


https://dl.doubtnut.com/l/_TkRhC5LFSdBU
https://dl.doubtnut.com/l/_jJjhWAZfdao5

A. 16 cm

B.20 cm

C.24 cm

D.15 cm

Answer: B

o Watch Video Solution

28. [ ABCD is a parallelogram. If mZA = 50°, then

find mZB and m/C.

o Watch Video Solution



https://dl.doubtnut.com/l/_jJjhWAZfdao5
https://dl.doubtnut.com/l/_hOStXXEvpTCX
https://dl.doubtnut.com/l/_EK5Nqakt23Qv

29. [1 PQRS' is a rhombus. Diagonals PR and QS
intersect at M. If | (QM) =6 cm, and | (MR) =8 cm, then

find the side of the rhombus.

P wo

° Watch Video Solution

30. s

[ ° \/iawar Tavk CAliikian ]



https://dl.doubtnut.com/l/_EK5Nqakt23Qv
https://dl.doubtnut.com/l/_GyQCbKRduJzQ
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31. State the diagonal property of a rectangle and a

rhombus.

o Watch Video Solution

32. Construct A PQR such that | (PQ) =7 cm, | (QR) = 8

cmand | (PR) =9 cm.

o Watch Video Solution

33. Construct square of side 4 cm.

I o Watch Video Solution


https://dl.doubtnut.com/l/_GyQCbKRduJzQ
https://dl.doubtnut.com/l/_D8j0jWKACoHg
https://dl.doubtnut.com/l/_eYTsFBeIO0Uy
https://dl.doubtnut.com/l/_m5CLD8c9oaYi

34. If the adjacent sides of a rectangle are 60 cm and 11

cm, then find the length of its diagonals.

° Watch Video Solution

35. Find the perimeter of a square of side 10 cm. Justify

your steps.

o Watch Video Solution

36. If the adjacent sides of rectangle are each of length

12 cm , then identify the type of rectangle and hence


https://dl.doubtnut.com/l/_m5CLD8c9oaYi
https://dl.doubtnut.com/l/_AYJczEcRYd0w
https://dl.doubtnut.com/l/_BfFumOy6mO7v
https://dl.doubtnut.com/l/_wcOYkU55Bs8K

find its perimeter.

° Watch Video Solution



https://dl.doubtnut.com/l/_wcOYkU55Bs8K

37.Find the length of QR for the given figure
3

I
In the figure, diagonal PR is the perpen-
dicular bisector of diagonal QS. Identify
the type of J PQRS. If {(PQ)= 10 cm,
then find [ (PS) and if [ (SR) = 15 ¢m, then
find I (QR).

o Watch Video Solution



https://dl.doubtnut.com/l/_Uizk0ZaGtD2F

38. Construct [J PQRS such that | (PQ) =5.8 cm, | (QR)

=5.7cm, I(PS) =4 cm, | (RS) =71 cm and | (QS) = 6.3 cm.

° Watch Video Solution

39. Construct quadrilateral MNOP such that | (MN) = 4
cm, | (NO) =55 cm, | (OP) =5 cm, | (NP) = 63 cm and |

(MQO) =5 cm.

O Watch Video Solution



https://dl.doubtnut.com/l/_Uizk0ZaGtD2F
https://dl.doubtnut.com/l/_zLanhAnZIoQz
https://dl.doubtnut.com/l/_wH0O0HzCw1Kd

40. Construct [J ABCD such that | (AB) = 5.5 cm, | (BC)
= 46 <cocn, msLA=50°,mLB =120° and

m/C = 90°.

° Watch Video Solution

41. Construct [ PQRS such that | (QR) = 5.2 cm,
m/R = 73°,l(RS) = 6ecm, m/S = 70° and | (PS) =

4.3 cm,

° Watch Video Solution



https://dl.doubtnut.com/l/_7K95vR5csqmA
https://dl.doubtnut.com/l/_AhveupmYjlgo

42. Draw a rhombus KLMN such that its side is 5 cm

and m/K = 60°.

° Watch Video Solution

43. Draw a rectangle PQRS such that | (PQ) = 5.3 cm and

| (QR) = 6.8 cm.

° Watch Video Solution

44, Construct a parallelogram ABCD such that | (BC) =

63cm,m/ABC = 45° and | (AB) =4 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_nho1O8lWOoFR
https://dl.doubtnut.com/l/_wJF58B51bW9V
https://dl.doubtnut.com/l/_S2qbRa8hcXYy

45. The ratio of the measures of angles of a
quadrilateral in order is 7 : 9 : 3 : 5 then find the

measures of its angles

° Watch Video Solution

46. Measures of adjacent angles of a parallelogram are
(3z + 30)° and (10z — 45)° then find the measures

of the angles of parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_S2qbRa8hcXYy
https://dl.doubtnut.com/l/_u2W6YDrYDp2M
https://dl.doubtnut.com/l/_9p1ZBKuQhSvP

Q : R
47, All the sides of [ PQRS are equal :

IF | (QS) =24 and | (QM) =2 x then find x..

o Watch Video Solution



https://dl.doubtnut.com/l/_5J8svHiIFh34

0 ; R
48."“1 the sides of [ PQRS are equal :

If | (PR) =18 and | (MR) =3 y then find y

o Watch Video Solution



https://dl.doubtnut.com/l/_jRNGHZwbYlDk

Q : : R

45 All the sides of [ PQRS are equal :

If x=6cm and y=3cm Find perimeter of [] PQRS.

° Watch Video Solution

50. Find the length of the diagonal of square of side 20

cam.

| = ]


https://dl.doubtnut.com/l/_ER0SkpncswGn
https://dl.doubtnut.com/l/_ZlcERtFAyom7

| &J Watch Video Solution



https://dl.doubtnut.com/l/_ZlcERtFAyom7

